
Installation systems
PV Light

Article number: 231 300

Description: Cruciform bracket kit,

free−standing type 1

Content: 4 x cruciform bracket claws
2 x M8 threaded bolts
2 x washers
2 x M8 x 100 screws
2 x spring washers

Material: AluminiumNatural

Cruciform bracket kit, free−standing type 1

Use: For structurally determined installation of single
crossbeams (231 308) on free−standing supports (231 299).

Article number: 231 301

Description: Cruciform bracket kit,

free−standing type 2

Content: 4 x cruciform bracket claws
2 x M8 threaded bolts
2 x washers
2 x M8 x 60 screws
2 x spring washers

Material: AluminiumNatural

Cruciform bracket kit, free−standing type 2

Use: For structurally determined installation of double
crossbeams (231 307) on free−standing supports (231 299).

AluminiumNatural: Plate finish (similar to RAL 7035, light grey) AluminiumNatural: Plate finish (similar to RAL 7035, light grey)

Features

� Quick and easy assembly

� Weather−resistant aluminium

Features

� Quick and easy assembly

� Weather−resistant aluminium

08.2005 Data sheet 10−53

SOLAR PRODUCTS
PHOTOVOLTAICS




